Math 371 - Fall 2011 - 9/20/2011 - Quiz #4 Score: out of 10.
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Show all work clearly and in order. Please box your answers. 10 minutes. |

1. Consider the following differential equation:

y(@ +y+ dz + (z + 2y)dy = 0.
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(b) Give an integrating factor that will turn (1) into an exact equation. SIMPLIFY! DO NOT

SOLVE THE DIFFERENTIAL EQUATION! 4
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2. Consider the following differential equation: s
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(y* + yz)dz +V3fdy =):
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(a) Show that (2) is homogeneous. DO NOT SOLVE THE DIFFERENTIAL EQUATION!
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(b) Give a substitution that will allow you to solve (2). (No work is needed here.) DO'NOT SOLVE

THE DIFFERENTIAL EQUATION!
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